
Using Inverse Operations to Check
51

45
 +

 6
 =

 5
1 51 - 6 = 45

A. For each of these addition calculations, work out the answer to the inverse 
operation, to check whether each answer is right or wrong.

Correct!

Correct? Correct?

1.	 37 + 7 = 43   2.	 26 + 8 = 44

43 - 7 = 44 - 8 = 

3.	 25 + 8 = 33 4.	 17 + 9 = 25

33 - 8 = 25 - 9 =

5.	 47 + 5 = 52 6.	 22 + 9 = 30

52 - 5 = 30 - 22 =

7.	 34 + 6 = 40 8.	 19 + 9 = 28

40 - 34 = 28 - 9 =

9.	 76 + 8 = 85 10.	46 + 7 = 53

85 - 76 = 53 - 46 =
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B. For each of these subtraction calculations, work out the answer to the 
inverse operation, to check whether each answer is right or wrong.

24

31 - 7 = 24 24
 + 

7 =
 31

Correct!

Correct? Correct?

1.	 45 – 6 = 39  2.	 22 – 4 = 19

39 + 6 = 19 + 4 = 

3.	 37 – 9 = 26 4.	 13 – 8 = 15

26 + 9 = 8 + 15 = 

5.	 31 – 3 = 28    6.	 34 – 7 = 26

28 + 3 = 26 + 7 =

7.	 42 – 6 = 38   8.	 51 – 6 = 45    

38 + 6 = 45 + 6 = 

9.	 62 – 7 = 54   10.	17 – 9 = 8    

54 + 7 = 9 + 8 =
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Using Inverse Operations  
to Check Answers

question answer
A. 

1 36 - Wrong
2 36 - Wrong
3 25 - Correct
4 16 - Wrong
5 47 - Correct
6 8 - Wrong
7 6 - Correct
8 19 - Correct
9 9 - Wrong
10 7 - Correct

B. 
1 45 - Correct
2 23 - Wrong
3 35 - Wrong
4 23 - Wrong
5 31 - Correct
6 33 - Wrong
7 44 - Wrong
8 51 - Correct
9 61 - Wrong
10 17 - Correct
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